
JOB NAME NOTES

DATE

CONTR ACTOR

HQ: 1005 Tonne Road 
Elk Grove Village, IL 60007 
P: 800-PAC-CLAD 
F: 800-722-7150

9060 Junction Drive 
Annapolis Junction, MD 20701 
P: 800-344-1400 
F: 301-953-7627

10551 PAC Road 
Tyler, TX 75707 
P: 800-441-8661 
F: 903-581-8592

102 Northpoint Parkway 
Acworth, GA 30102 
P: 800-272-4482 
F: 770-420-2533

1885 Station Parkway NW, Suite B 
Andover, MN 55304 
P: 877-571-2025 
F: 866-901-2935

1800 S. 7th Ave., Suite 130
Phoenix, AZ 85007
P: 833-750-1935 
F: 602-254-6504

800-PAC-CLAD     |     PAC-CLAD.COMPAC - CL AD |  PETERSEN

Modular  AL

NOTES:
•	 Shims Are Not Required For Metal Panel Unless There Are Imperfections In Wall Construction.
•	 If Imperfections, Use High Impact Plastic Shims.
•	 (Standard Wall Construction Deviation is Less Than 1/4” In 20’-0” In All Directions).

Base Trim
Starter Cleat

Base Trim

Starter Cleat
#12 x 1" Wafer Head Screw

Membrane Strip

High Impact Plastic Shims (as required)

ModularAL Metal Panel

Carlisle 705 HT Air & Vapor
Barrier or Approved Equal

3/4" Plywood Substrate (min.)

3"

1 7/8"

5/8"

5/8"

Color Side
Out

Supplied w/
Panel

(1) #12x1" Stainless Steel
Cap Head Screw w/ EPDM
Sealing Washer @ 12"o.c.

1
2" Typ. Panel Joint

(Supplied by Others)

Caulk by Others

1
8" to 12" Typical Gap

Base Detail

or Approved Wall Construction

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Base Trim
Starter Cleat

Base Trim

Starter Cleat
#12 x 1" Wafer Head Screw

Membrane Strip

High Impact Plastic Shims (as required)

ModularAL Metal Panel

Carlisle 705 HT Air & Vapor
Barrier or Approved Equal

3/4" Plywood Substrate (min.)

3"

1 7/8"

5/8"

5/8"

Color Side
Out

Supplied w/
Panel

(1) #12x1" Stainless Steel
Cap Head Screw w/ EPDM
Sealing Washer @ 12"o.c.

1
2" Typ. Panel Joint

(Supplied by Others)

Caulk by Others

1
8" to 12" Typical Gap

Base Detail

or Approved Wall Construction

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Base Detail



JOB NAME NOTES

DATE

CONTR ACTOR

HQ: 1005 Tonne Road 
Elk Grove Village, IL 60007 
P: 800-PAC-CLAD 
F: 800-722-7150

9060 Junction Drive 
Annapolis Junction, MD 20701 
P: 800-344-1400 
F: 301-953-7627

10551 PAC Road 
Tyler, TX 75707 
P: 800-441-8661 
F: 903-581-8592

102 Northpoint Parkway 
Acworth, GA 30102 
P: 800-272-4482 
F: 770-420-2533

1885 Station Parkway NW, Suite B 
Andover, MN 55304 
P: 877-571-2025 
F: 866-901-2935

1800 S. 7th Ave., Suite 130
Phoenix, AZ 85007
P: 833-750-1935 
F: 602-254-6504

800-PAC-CLAD     |     PAC-CLAD.COMPAC - CL AD |  PETERSEN

Modular  AL

NOTES:
•	 Shims Are Not Required For Metal Panel Unless There Are Imperfections In Wall Construction.
•	 If Imperfections, Use High Impact Plastic Shims.
•	 (Standard Wall Construction Deviation is Less Than 1/4” In 20’-0” In All Directions).

Stiffener

J Channel
Backer Rod and Sealant

J Channel

#12 x 1" Wafer Head Screw
Membrane Strip

High Impact Plastic Shim (as required)

ModularAL Metal Panel

Carlisle 705 HT Air & Vapor

3/4" Plywood (min.)

3"

1 3/4"

1 1/2" Color Side
Out

Color Side
In

Barrier or Approved Equal

(Supplied by Others)

Aluminum Stiffener for
Cut Metal Panels.  Pop Rivet
or VHB Tape Stiffener To Panel

Aluminum Panel

Endwall Detail

or Approved Wall Construction

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Endwall Detail

Stiffener

J Channel
Backer Rod and Sealant

J Channel

#12 x 1" Wafer Head Screw
Membrane Strip

High Impact Plastic Shim (as required)

ModularAL Metal Panel

Carlisle 705 HT Air & Vapor

3/4" Plywood (min.)

3"

1 3/4"

1 1/2" Color Side
Out

Color Side
In

Barrier or Approved Equal

(Supplied by Others)

Aluminum Stiffener for
Cut Metal Panels.  Pop Rivet
or VHB Tape Stiffener To Panel

Aluminum Panel

Endwall Detail

or Approved Wall Construction

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Stiffener

J Channel
Backer Rod and Sealant

J Channel

#12 x 1" Wafer Head Screw
Membrane Strip

High Impact Plastic Shim (as required)

ModularAL Metal Panel

Carlisle 705 HT Air & Vapor

3/4" Plywood (min.)

3"

1 3/4"

1 1/2" Color Side
Out

Color Side
In

Barrier or Approved Equal

(Supplied by Others)

Aluminum Stiffener for
Cut Metal Panels.  Pop Rivet
or VHB Tape Stiffener To Panel

Aluminum Panel

Endwall Detail

or Approved Wall Construction

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Stiffener

J Channel
Backer Rod and Sealant

J Channel

#12 x 1" Wafer Head Screw
Membrane Strip

High Impact Plastic Shim (as required)

ModularAL Metal Panel

Carlisle 705 HT Air & Vapor

3/4" Plywood (min.)

3"

1 3/4"

1 1/2" Color Side
Out

Color Side
In

Barrier or Approved Equal

(Supplied by Others)

Aluminum Stiffener for
Cut Metal Panels.  Pop Rivet
or VHB Tape Stiffener To Panel

Aluminum Panel

Endwall Detail

or Approved Wall Construction

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).



JOB NAME NOTES

DATE

CONTR ACTOR

HQ: 1005 Tonne Road 
Elk Grove Village, IL 60007 
P: 800-PAC-CLAD 
F: 800-722-7150

9060 Junction Drive 
Annapolis Junction, MD 20701 
P: 800-344-1400 
F: 301-953-7627

10551 PAC Road 
Tyler, TX 75707 
P: 800-441-8661 
F: 903-581-8592

102 Northpoint Parkway 
Acworth, GA 30102 
P: 800-272-4482 
F: 770-420-2533

1885 Station Parkway NW, Suite B 
Andover, MN 55304 
P: 877-571-2025 
F: 866-901-2935

1800 S. 7th Ave., Suite 130
Phoenix, AZ 85007
P: 833-750-1935 
F: 602-254-6504

800-PAC-CLAD     |     PAC-CLAD.COMPAC - CL AD |  PETERSEN

Modular  AL

NOTES:
•	 Shims Are Not Required For Metal Panel Unless There Are Imperfections In Wall Construction.
•	 If Imperfections, Use High Impact Plastic Shims.
•	 (Standard Wall Construction Deviation is Less Than 1/4” In 20’-0” In All Directions).

Head Detail

Angle Trim with Return

Head TrimPanel Trim

3"

3"

1/2" W.H.

Backer Rod and Sealant

Window Unit

Angle Trim with Return

Membrane Strip

High Impact Plastic Shim (as required)

Carlisle 705HT Air & Vapor

3/4" Plywood (min.)

ModualarAL Metal Panel

3"

1 7/8"

5/8"

5/8"

Color Side
Out

Barrier or Approved Equal

1
2" Typ. Panel Joint

#12 x 1" Wafer Head Screw

Aluminum Stiffener for
Cut Metal Panels. Pop Rivet
of VHB Tape Stiffener to Panel

11
2"

.1/2"

2"

13
4"

Panel Trim

Head Trim

1
8" to 12" Typical Gap

ModularAL

(1) #12x1" Stainless Steel
Cap Head Screw w/ EPDM
Sealing Washer @ 12"o.c.

3
16"x1

2" Oblong Weep
Holes @12"o.c.

Stiffener
Aluminum Panel

or Approved Wall Construction

Color Side
Out

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Head Detail

Angle Trim with Return

Head TrimPanel Trim

3"

3"

1/2" W.H.

Backer Rod and Sealant

Window Unit

Angle Trim with Return

Membrane Strip

High Impact Plastic Shim (as required)

Carlisle 705HT Air & Vapor

3/4" Plywood (min.)

ModualarAL Metal Panel

3"

1 7/8"

5/8"

5/8"

Color Side
Out

Barrier or Approved Equal

1
2" Typ. Panel Joint

#12 x 1" Wafer Head Screw

Aluminum Stiffener for
Cut Metal Panels. Pop Rivet
of VHB Tape Stiffener to Panel

11
2"

.1/2"

2"

13
4"

Panel Trim

Head Trim

1
8" to 12" Typical Gap

ModularAL

(1) #12x1" Stainless Steel
Cap Head Screw w/ EPDM
Sealing Washer @ 12"o.c.

3
16"x1

2" Oblong Weep
Holes @12"o.c.

Stiffener
Aluminum Panel

or Approved Wall Construction

Color Side
Out

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Head Detail

Angle Trim with Return

Head TrimPanel Trim

3"

3"

1/2" W.H.

Backer Rod and Sealant

Window Unit

Angle Trim with Return

Membrane Strip

High Impact Plastic Shim (as required)

Carlisle 705HT Air & Vapor

3/4" Plywood (min.)

ModualarAL Metal Panel

3"

1 7/8"

5/8"

5/8"

Color Side
Out

Barrier or Approved Equal

1
2" Typ. Panel Joint

#12 x 1" Wafer Head Screw

Aluminum Stiffener for
Cut Metal Panels. Pop Rivet
of VHB Tape Stiffener to Panel

11
2"

.1/2"

2"

13
4"

Panel Trim

Head Trim

1
8" to 12" Typical Gap

ModularAL

(1) #12x1" Stainless Steel
Cap Head Screw w/ EPDM
Sealing Washer @ 12"o.c.

3
16"x1

2" Oblong Weep
Holes @12"o.c.

Stiffener
Aluminum Panel

or Approved Wall Construction

Color Side
Out

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Head Detail

Head Detail

Angle Trim with Return

Head TrimPanel Trim

3"

3"

1/2" W.H.

Backer Rod and Sealant

Window Unit

Angle Trim with Return

Membrane Strip

High Impact Plastic Shim (as required)

Carlisle 705HT Air & Vapor

3/4" Plywood (min.)

ModualarAL Metal Panel

3"

1 7/8"

5/8"

5/8"

Color Side
Out

Barrier or Approved Equal

1
2" Typ. Panel Joint

#12 x 1" Wafer Head Screw

Aluminum Stiffener for
Cut Metal Panels. Pop Rivet
of VHB Tape Stiffener to Panel

11
2"

.1/2"

2"

13
4"

Panel Trim

Head Trim

1
8" to 12" Typical Gap

ModularAL

(1) #12x1" Stainless Steel
Cap Head Screw w/ EPDM
Sealing Washer @ 12"o.c.

3
16"x1

2" Oblong Weep
Holes @12"o.c.

Stiffener
Aluminum Panel

or Approved Wall Construction

Color Side
Out

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Head Detail

Angle Trim with Return

Head TrimPanel Trim

3"

3"

1/2" W.H.

Backer Rod and Sealant

Window Unit

Angle Trim with Return

Membrane Strip

High Impact Plastic Shim (as required)

Carlisle 705HT Air & Vapor

3/4" Plywood (min.)

ModualarAL Metal Panel

3"

1 7/8"

5/8"

5/8"

Color Side
Out

Barrier or Approved Equal

1
2" Typ. Panel Joint

#12 x 1" Wafer Head Screw

Aluminum Stiffener for
Cut Metal Panels. Pop Rivet
of VHB Tape Stiffener to Panel

11
2"

.1/2"

2"

13
4"

Panel Trim

Head Trim

1
8" to 12" Typical Gap

ModularAL

(1) #12x1" Stainless Steel
Cap Head Screw w/ EPDM
Sealing Washer @ 12"o.c.

3
16"x1

2" Oblong Weep
Holes @12"o.c.

Stiffener
Aluminum Panel

or Approved Wall Construction

Color Side
Out

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Head Detail

Angle Trim with Return

Head TrimPanel Trim

3"

3"

1/2" W.H.

Backer Rod and Sealant

Window Unit

Angle Trim with Return

Membrane Strip

High Impact Plastic Shim (as required)

Carlisle 705HT Air & Vapor

3/4" Plywood (min.)

ModualarAL Metal Panel

3"

1 7/8"

5/8"

5/8"

Color Side
Out

Barrier or Approved Equal

1
2" Typ. Panel Joint

#12 x 1" Wafer Head Screw

Aluminum Stiffener for
Cut Metal Panels. Pop Rivet
of VHB Tape Stiffener to Panel

11
2"

.1/2"

2"

13
4"

Panel Trim

Head Trim

1
8" to 12" Typical Gap

ModularAL

(1) #12x1" Stainless Steel
Cap Head Screw w/ EPDM
Sealing Washer @ 12"o.c.

3
16"x1

2" Oblong Weep
Holes @12"o.c.

Stiffener
Aluminum Panel

or Approved Wall Construction

Color Side
Out

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).



JOB NAME NOTES

DATE

CONTR ACTOR

HQ: 1005 Tonne Road 
Elk Grove Village, IL 60007 
P: 800-PAC-CLAD 
F: 800-722-7150

9060 Junction Drive 
Annapolis Junction, MD 20701 
P: 800-344-1400 
F: 301-953-7627

10551 PAC Road 
Tyler, TX 75707 
P: 800-441-8661 
F: 903-581-8592

102 Northpoint Parkway 
Acworth, GA 30102 
P: 800-272-4482 
F: 770-420-2533

1885 Station Parkway NW, Suite B 
Andover, MN 55304 
P: 877-571-2025 
F: 866-901-2935

1800 S. 7th Ave., Suite 130
Phoenix, AZ 85007
P: 833-750-1935 
F: 602-254-6504

800-PAC-CLAD     |     PAC-CLAD.COMPAC - CL AD |  PETERSEN

Modular  AL

NOTES:
•	 Shims Are Not Required For Metal Panel Unless There Are Imperfections In Wall Construction.
•	 If Imperfections, Use High Impact Plastic Shims.
•	 (Standard Wall Construction Deviation is Less Than 1/4” In 20’-0” In All Directions).

Inside Corner Detail

J Channel

#12 x 1" Wafer Head Screw

Membrane Strip

ModularAL Metal Panel

3/4" Plywood (min.)

Carlisle 705HT Air & Vapor

Inside Corner Detail
ModularAL

Barrier or Approved Equal

ModularAL Metal Panel

J Channel

3"

1 3/4"

1 1/2" Color Side
Out

Color Side
In

Stiffener
Aluminum Panel

Aluminum Stiffener for
Cut Metal Panels.  Pop Rivet
or VHB Tape Stiffener To Panel

or Approved Wall Construction

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

J Channel

#12 x 1" Wafer Head Screw

Membrane Strip

ModularAL Metal Panel

3/4" Plywood (min.)

Carlisle 705HT Air & Vapor

Inside Corner Detail
ModularAL

Barrier or Approved Equal

ModularAL Metal Panel

J Channel

3"

1 3/4"

1 1/2" Color Side
Out

Color Side
In

Stiffener
Aluminum Panel

Aluminum Stiffener for
Cut Metal Panels.  Pop Rivet
or VHB Tape Stiffener To Panel

or Approved Wall Construction

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

J Channel

#12 x 1" Wafer Head Screw

Membrane Strip

ModularAL Metal Panel

3/4" Plywood (min.)

Carlisle 705HT Air & Vapor

Inside Corner Detail
ModularAL

Barrier or Approved Equal

ModularAL Metal Panel

J Channel

3"

1 3/4"

1 1/2" Color Side
Out

Color Side
In

Stiffener
Aluminum Panel

Aluminum Stiffener for
Cut Metal Panels.  Pop Rivet
or VHB Tape Stiffener To Panel

or Approved Wall Construction

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

J Channel

#12 x 1" Wafer Head Screw

Membrane Strip

ModularAL Metal Panel

3/4" Plywood (min.)

Carlisle 705HT Air & Vapor

Inside Corner Detail
ModularAL

Barrier or Approved Equal

ModularAL Metal Panel

J Channel

3"

1 3/4"

1 1/2" Color Side
Out

Color Side
In

Stiffener
Aluminum Panel

Aluminum Stiffener for
Cut Metal Panels.  Pop Rivet
or VHB Tape Stiffener To Panel

or Approved Wall Construction

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).



JOB NAME NOTES

DATE

CONTR ACTOR

HQ: 1005 Tonne Road 
Elk Grove Village, IL 60007 
P: 800-PAC-CLAD 
F: 800-722-7150

9060 Junction Drive 
Annapolis Junction, MD 20701 
P: 800-344-1400 
F: 301-953-7627

10551 PAC Road 
Tyler, TX 75707 
P: 800-441-8661 
F: 903-581-8592

102 Northpoint Parkway 
Acworth, GA 30102 
P: 800-272-4482 
F: 770-420-2533

1885 Station Parkway NW, Suite B 
Andover, MN 55304 
P: 877-571-2025 
F: 866-901-2935

1800 S. 7th Ave., Suite 130
Phoenix, AZ 85007
P: 833-750-1935 
F: 602-254-6504

800-PAC-CLAD     |     PAC-CLAD.COMPAC - CL AD |  PETERSEN

Modular  AL

NOTES:
•	 Shims Are Not Required For Metal Panel Unless There Are Imperfections In Wall Construction.
•	 If Imperfections, Use High Impact Plastic Shims.
•	 (Standard Wall Construction Deviation is Less Than 1/4” In 20’-0” In All Directions).

Jamb Detail

Angle Trim with Return
3"

3"

Backer Rod and Sealant

Window Unit
Angle Trim with Return

J Channel

#12 x 1" Wafer Head Screw
Membrane Strip

ModularAL Metal Panel
or Approved Wall Construction

Barrier or Approved Equal

Jamb Detail
ModularAL

Carlisle 705HT Air & Vapor

Aluminum Stiffener for
Cut Metal Panels. Pop Rivet
or VHB Tape Stiffeners To Panels 

J Channel

3"

1 3/4"

1 1/2" Color Side
Out

Color Side
In

Stiffener
Aluminum Panel

3/4" Plywood (min.)

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Color Side
Out

Color Side
Out

Angle Trim with Return
3"

3"

Backer Rod and Sealant

Window Unit
Angle Trim with Return

J Channel

#12 x 1" Wafer Head Screw
Membrane Strip

ModularAL Metal Panel
or Approved Wall Construction

Barrier or Approved Equal

Jamb Detail
ModularAL

Carlisle 705HT Air & Vapor

Aluminum Stiffener for
Cut Metal Panels. Pop Rivet
or VHB Tape Stiffeners To Panels 

J Channel

3"

1 3/4"

1 1/2" Color Side
Out

Color Side
In

Stiffener
Aluminum Panel

3/4" Plywood (min.)

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Color Side
Out

Color Side
Out

Angle Trim with Return
3"

3"

Backer Rod and Sealant

Window Unit
Angle Trim with Return

J Channel

#12 x 1" Wafer Head Screw
Membrane Strip

ModularAL Metal Panel
or Approved Wall Construction

Barrier or Approved Equal

Jamb Detail
ModularAL

Carlisle 705HT Air & Vapor

Aluminum Stiffener for
Cut Metal Panels. Pop Rivet
or VHB Tape Stiffeners To Panels 

J Channel

3"

1 3/4"

1 1/2" Color Side
Out

Color Side
In

Stiffener
Aluminum Panel

3/4" Plywood (min.)

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Color Side
Out

Color Side
OutAngle Trim with Return

3"

3"

Backer Rod and Sealant

Window Unit
Angle Trim with Return

J Channel

#12 x 1" Wafer Head Screw
Membrane Strip

ModularAL Metal Panel
or Approved Wall Construction

Barrier or Approved Equal

Jamb Detail
ModularAL

Carlisle 705HT Air & Vapor

Aluminum Stiffener for
Cut Metal Panels. Pop Rivet
or VHB Tape Stiffeners To Panels 

J Channel

3"

1 3/4"

1 1/2" Color Side
Out

Color Side
In

Stiffener
Aluminum Panel

3/4" Plywood (min.)

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Color Side
Out

Color Side
Out

Angle Trim with Return
3"

3"

Backer Rod and Sealant

Window Unit
Angle Trim with Return

J Channel

#12 x 1" Wafer Head Screw
Membrane Strip

ModularAL Metal Panel
or Approved Wall Construction

Barrier or Approved Equal

Jamb Detail
ModularAL

Carlisle 705HT Air & Vapor

Aluminum Stiffener for
Cut Metal Panels. Pop Rivet
or VHB Tape Stiffeners To Panels 

J Channel

3"

1 3/4"

1 1/2" Color Side
Out

Color Side
In

Stiffener
Aluminum Panel

3/4" Plywood (min.)

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Color Side
Out

Color Side
Out



JOB NAME NOTES

DATE

CONTR ACTOR

HQ: 1005 Tonne Road 
Elk Grove Village, IL 60007 
P: 800-PAC-CLAD 
F: 800-722-7150

9060 Junction Drive 
Annapolis Junction, MD 20701 
P: 800-344-1400 
F: 301-953-7627

10551 PAC Road 
Tyler, TX 75707 
P: 800-441-8661 
F: 903-581-8592

102 Northpoint Parkway 
Acworth, GA 30102 
P: 800-272-4482 
F: 770-420-2533

1885 Station Parkway NW, Suite B 
Andover, MN 55304 
P: 877-571-2025 
F: 866-901-2935

1800 S. 7th Ave., Suite 130
Phoenix, AZ 85007
P: 833-750-1935 
F: 602-254-6504

800-PAC-CLAD     |     PAC-CLAD.COMPAC - CL AD |  PETERSEN

Modular  AL

NOTES:
•	 Shims Are Not Required For Metal Panel Unless There Are Imperfections In Wall Construction.
•	 If Imperfections, Use High Impact Plastic Shims.
•	 (Standard Wall Construction Deviation is Less Than 1/4” In 20’-0” In All Directions).

Outside Corner Detail Option #1

Outside Corner Post

2 1/8"

1 3/4"

1 1/2"

4"

*

4"

1 1/2"

1 3/4"

2 1/8"

Outside Corner Post

#12 x 1" Wafer Head Screw

ModularAL Metal Panel
Membrane Strip

Carlisle 705HT Air & Vapor

3/4" Plywood (min.)

Outside Corner Detail
ModularAL

Barrier or Approved Equal

Aluminum Stiffener for
Cut Metal Panels. Pop Rivet
or VHB Tape Stiffener to Panels

Option #1

or Approved Wall Construction

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Outside Corner Post

2 1/8"

1 3/4"

1 1/2"

4"

*

4"

1 1/2"

1 3/4"

2 1/8"

Outside Corner Post

#12 x 1" Wafer Head Screw

ModularAL Metal Panel
Membrane Strip

Carlisle 705HT Air & Vapor

3/4" Plywood (min.)

Outside Corner Detail
ModularAL

Barrier or Approved Equal

Aluminum Stiffener for
Cut Metal Panels. Pop Rivet
or VHB Tape Stiffener to Panels

Option #1

or Approved Wall Construction

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Outside Corner Post

2 1/8"

1 3/4"

1 1/2"

4"

*

4"

1 1/2"

1 3/4"

2 1/8"

Outside Corner Post

#12 x 1" Wafer Head Screw

ModularAL Metal Panel
Membrane Strip

Carlisle 705HT Air & Vapor

3/4" Plywood (min.)

Outside Corner Detail
ModularAL

Barrier or Approved Equal

Aluminum Stiffener for
Cut Metal Panels. Pop Rivet
or VHB Tape Stiffener to Panels

Option #1

or Approved Wall Construction

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).



JOB NAME NOTES

DATE

CONTR ACTOR

HQ: 1005 Tonne Road 
Elk Grove Village, IL 60007 
P: 800-PAC-CLAD 
F: 800-722-7150

9060 Junction Drive 
Annapolis Junction, MD 20701 
P: 800-344-1400 
F: 301-953-7627

10551 PAC Road 
Tyler, TX 75707 
P: 800-441-8661 
F: 903-581-8592

102 Northpoint Parkway 
Acworth, GA 30102 
P: 800-272-4482 
F: 770-420-2533

1885 Station Parkway NW, Suite B 
Andover, MN 55304 
P: 877-571-2025 
F: 866-901-2935

1800 S. 7th Ave., Suite 130
Phoenix, AZ 85007
P: 833-750-1935 
F: 602-254-6504

800-PAC-CLAD     |     PAC-CLAD.COMPAC - CL AD |  PETERSEN

Modular  AL

NOTES:
•	 Shims Are Not Required For Metal Panel Unless There Are Imperfections In Wall Construction.
•	 If Imperfections, Use High Impact Plastic Shims.
•	 (Standard Wall Construction Deviation is Less Than 1/4” In 20’-0” In All Directions).

Outside Corner Detail Option #2

Outside Corner Post

2 1/8"

1 3/4"

4"

4"

1 3/4"

2 1/8"

Outside Corner Post

#12 x 1" Wafer Head Screw

ModularAL Metal Panel
Membrane Strip

Carlisle 705HT Air & Vapor

3/4" Plywood (min.)

Outside Corner Detail
ModularAL

Barrier or Approved Equal

Aluminum Stiffener for
Cut Metal Panels. Pop Rivet
or VHB Tape Stiffener To Panels

Option #2

1
2"

1
2"

or Approved Wall Construction

Color Side
Out

Color Side
Out

1 3/8"

1 3/8"

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Outside Corner Post

2 1/8"

1 3/4"

4"

4"

1 3/4"

2 1/8"

Outside Corner Post

#12 x 1" Wafer Head Screw

ModularAL Metal Panel
Membrane Strip

Carlisle 705HT Air & Vapor

3/4" Plywood (min.)

Outside Corner Detail
ModularAL

Barrier or Approved Equal

Aluminum Stiffener for
Cut Metal Panels. Pop Rivet
or VHB Tape Stiffener To Panels

Option #2

1
2"

1
2"

or Approved Wall Construction

Color Side
Out

Color Side
Out

1 3/8"

1 3/8"

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Outside Corner Post

2 1/8"

1 3/4"

4"

4"

1 3/4"

2 1/8"

Outside Corner Post

#12 x 1" Wafer Head Screw

ModularAL Metal Panel
Membrane Strip

Carlisle 705HT Air & Vapor

3/4" Plywood (min.)

Outside Corner Detail
ModularAL

Barrier or Approved Equal

Aluminum Stiffener for
Cut Metal Panels. Pop Rivet
or VHB Tape Stiffener To Panels

Option #2

1
2"

1
2"

or Approved Wall Construction

Color Side
Out

Color Side
Out

1 3/8"

1 3/8"

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).



JOB NAME NOTES

DATE

CONTR ACTOR

HQ: 1005 Tonne Road 
Elk Grove Village, IL 60007 
P: 800-PAC-CLAD 
F: 800-722-7150

9060 Junction Drive 
Annapolis Junction, MD 20701 
P: 800-344-1400 
F: 301-953-7627

10551 PAC Road 
Tyler, TX 75707 
P: 800-441-8661 
F: 903-581-8592

102 Northpoint Parkway 
Acworth, GA 30102 
P: 800-272-4482 
F: 770-420-2533

1885 Station Parkway NW, Suite B 
Andover, MN 55304 
P: 877-571-2025 
F: 866-901-2935

1800 S. 7th Ave., Suite 130
Phoenix, AZ 85007
P: 833-750-1935 
F: 602-254-6504

800-PAC-CLAD     |     PAC-CLAD.COMPAC - CL AD |  PETERSEN

Modular  AL

NOTES:
•	 Shims Are Not Required For Metal Panel Unless There Are Imperfections In Wall Construction.
•	 If Imperfections, Use High Impact Plastic Shims.
•	 (Standard Wall Construction Deviation is Less Than 1/4” In 20’-0” In All Directions).

Panel Detail

A

A

B

B

Section A-A

Section B-B

Modular Metal Panel

High Impact Plastic Shim (as required)

Modular Metal Panel

Barrier or Approved Equal

 12" Reveal

1
2" Reveal

ModularAL Metal Panel

#12 x 1" Wafer Head Screw

Panel Clip

Carlisle 705HT Air & Vapor
or Approved Wall Construction

Panel Detail
ModularAL

Barrier or Approved Equal

Aluminum Extruded Metal 

Carlisle 705HT Air & Vapor

(1) #12x1" Stainless Steel
Cap Head Screw w/ EPDM
Sealing Washer @ 12"o.c.

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

3/4" Plywood (min.)

or Approved Wall Construction
3/4" Plywood (min.)

A

A

B

B

Section A-A

Section B-B

Modular Metal Panel

High Impact Plastic Shim (as required)

Modular Metal Panel

Barrier or Approved Equal

 12" Reveal

1
2" Reveal

ModularAL Metal Panel

#12 x 1" Wafer Head Screw

Panel Clip

Carlisle 705HT Air & Vapor
or Approved Wall Construction

Panel Detail
ModularAL

Barrier or Approved Equal

Aluminum Extruded Metal 

Carlisle 705HT Air & Vapor

(1) #12x1" Stainless Steel
Cap Head Screw w/ EPDM
Sealing Washer @ 12"o.c.

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

3/4" Plywood (min.)

or Approved Wall Construction
3/4" Plywood (min.)

A

A

B

B

Section A-A

Section B-B

Modular Metal Panel

High Impact Plastic Shim (as required)

Modular Metal Panel

Barrier or Approved Equal

 12" Reveal

1
2" Reveal

ModularAL Metal Panel

#12 x 1" Wafer Head Screw

Panel Clip

Carlisle 705HT Air & Vapor
or Approved Wall Construction

Panel Detail
ModularAL

Barrier or Approved Equal

Aluminum Extruded Metal 

Carlisle 705HT Air & Vapor

(1) #12x1" Stainless Steel
Cap Head Screw w/ EPDM
Sealing Washer @ 12"o.c.

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

3/4" Plywood (min.)

or Approved Wall Construction
3/4" Plywood (min.)



JOB NAME NOTES

DATE

CONTR ACTOR

HQ: 1005 Tonne Road 
Elk Grove Village, IL 60007 
P: 800-PAC-CLAD 
F: 800-722-7150

9060 Junction Drive 
Annapolis Junction, MD 20701 
P: 800-344-1400 
F: 301-953-7627

10551 PAC Road 
Tyler, TX 75707 
P: 800-441-8661 
F: 903-581-8592

102 Northpoint Parkway 
Acworth, GA 30102 
P: 800-272-4482 
F: 770-420-2533

1885 Station Parkway NW, Suite B 
Andover, MN 55304 
P: 877-571-2025 
F: 866-901-2935

1800 S. 7th Ave., Suite 130
Phoenix, AZ 85007
P: 833-750-1935 
F: 602-254-6504

800-PAC-CLAD     |     PAC-CLAD.COMPAC - CL AD |  PETERSEN

Modular  AL

NOTES:
•	 Shims Are Not Required For Metal Panel Unless There Are Imperfections In Wall Construction.
•	 If Imperfections, Use High Impact Plastic Shims.
•	 (Standard Wall Construction Deviation is Less Than 1/4” In 20’-0” In All Directions).

Top of Wall Detail

Coping System (By Others)

ModularAL Metal Panel

Carlisle 705HT Air & Vapor

3/4" Plywood (min.)

Barrier or Approved Equal

Aluminum Stiffener for
Cut Metal Panels Pop Riveted
To Panel

Stiffener
Aluminum Panel

Top of Wall Detail
ModularAL

or Approved Wall Construction

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Coping System (By Others)

ModularAL Metal Panel

Carlisle 705HT Air & Vapor

3/4" Plywood (min.)

Barrier or Approved Equal

Aluminum Stiffener for
Cut Metal Panels Pop Riveted
To Panel

Stiffener
Aluminum Panel

Top of Wall Detail
ModularAL

or Approved Wall Construction

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

Coping System (By Others)

ModularAL Metal Panel

Carlisle 705HT Air & Vapor

3/4" Plywood (min.)

Barrier or Approved Equal

Aluminum Stiffener for
Cut Metal Panels Pop Riveted
To Panel

Stiffener
Aluminum Panel

Top of Wall Detail
ModularAL

or Approved Wall Construction

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).



JOB NAME NOTES

DATE

CONTR ACTOR

HQ: 1005 Tonne Road 
Elk Grove Village, IL 60007 
P: 800-PAC-CLAD 
F: 800-722-7150

9060 Junction Drive 
Annapolis Junction, MD 20701 
P: 800-344-1400 
F: 301-953-7627

10551 PAC Road 
Tyler, TX 75707 
P: 800-441-8661 
F: 903-581-8592

102 Northpoint Parkway 
Acworth, GA 30102 
P: 800-272-4482 
F: 770-420-2533

1885 Station Parkway NW, Suite B 
Andover, MN 55304 
P: 877-571-2025 
F: 866-901-2935

1800 S. 7th Ave., Suite 130
Phoenix, AZ 85007
P: 833-750-1935 
F: 602-254-6504

800-PAC-CLAD     |     PAC-CLAD.COMPAC - CL AD |  PETERSEN

Modular  AL

NOTES:
•	 Shims Are Not Required For Metal Panel Unless There Are Imperfections In Wall Construction.
•	 If Imperfections, Use High Impact Plastic Shims.
•	 (Standard Wall Construction Deviation is Less Than 1/4” In 20’-0” In All Directions).

Window Sill Detail

Backer Rod and Sealant

Window Unit

ModualAL Metal Panel

Barrier or Approved Equal

3/4" Plywood (min.) Window Sill Trim

3 1/2"

1/2" W.H.
1 7/8"

1 1/2"

1/2" O.H.

Window Sill Trim

Window Sill Detail
ModularAL

Carlisle 705HT Air and Vapor

Aluminum Stiffener for
Cut Metal Panels. Pop Rivet
or VHB Tape Stiffener To Panels.

(By Others)

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

or Approved Wall Construction

Color Side
Out

Backer Rod and Sealant

Window Unit

ModualAL Metal Panel

Barrier or Approved Equal

3/4" Plywood (min.) Window Sill Trim

3 1/2"

1/2" W.H.
1 7/8"

1 1/2"

1/2" O.H.

Window Sill Trim

Window Sill Detail
ModularAL

Carlisle 705HT Air and Vapor

Aluminum Stiffener for
Cut Metal Panels. Pop Rivet
or VHB Tape Stiffener To Panels.

(By Others)

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

or Approved Wall Construction

Color Side
Out

Backer Rod and Sealant

Window Unit

ModualAL Metal Panel

Barrier or Approved Equal

3/4" Plywood (min.) Window Sill Trim

3 1/2"

1/2" W.H.
1 7/8"

1 1/2"

1/2" O.H.

Window Sill Trim

Window Sill Detail
ModularAL

Carlisle 705HT Air and Vapor

Aluminum Stiffener for
Cut Metal Panels. Pop Rivet
or VHB Tape Stiffener To Panels.

(By Others)

Note:
    Shims Are Not Required For Metal Panel Unless
    There Are Imperfections In Wall Construction.  
    If Imperfections, Use High Impact Plastic Shims.

(Standard Wall Construction Deviation is Less Than 
1/4" In 20'-0" In All Directions).

or Approved Wall Construction

Color Side
Out


	Modular-AL-Base-Detail
	Modular-AL-Endwall-Detail
	Modular-AL-Head-Detail
	Modular-AL-Inside-Corner-Detail
	Modular-AL-Jamb-Detail
	Modular-AL-Outside-Corner-Detail-Option-1
	Modular-AL-Outside-Corner-Detail-Option-2
	Modular-AL-Panel-Detail
	Modular-AL-Top-of-Wall-Detail
	Modular-AL-Window-Sill-Detail

